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Given a set of n jobs {1,2,3,--- ,n}, each job j with a processing
time ¢; > 0 and a weight w; > 0, we need to schedule the n jobs on
a machine in some order. Let C; be the completion time of j on in
the schedule. Then the goal of the problem is to find a schedule to
minimize the weighted sum of the completion times, i.e, 2?21 w;C;.

R W, =5 Wo=¥
.A = il ti = o
éat\wb}(; § [ ° | ( | > | W, —t("\" U-)ztt"%‘tl) = I\ZO

52 ' > | n W, t, + W, L{(-t—t_) =S



> Flrot 41/7 :

Schednle the ()"L' wieh  max [,t)e'jkt -][i rst

< et werk .
lohs = W= lee wedl 49 11
b 7| t= (e | =0 ™ -
(o jaL;

Vo xoo + 9 Lol +lo2+( o34 (o)
Wt e+3+ 10+ loo x||o

> Sewwﬂ W:
Pl the gaL ) wirth fsuj%t W/ /t_.l to exelate {zm—t.



Piref of che ey ppecy
» TN 14 an e?ﬁm,t gJueOMQ; O {}okﬁé —> {[, 2,3, V\?
s = b 3 s che 2l b e erecuted..

()= Pl dirk
. YOR o ~ () (. F
fet ], 3= eegmax o S B ot L. T6.F
3eb L v
T
K\’_'Aﬁ .)o %‘k—l B
N EmeST - e WOt W
KA jobs
g r g
R e e = WM 4 20
- (v) | v N o
> kA jebs [
=
= WOT (™) — War @) =W, T = %WJJO
_ Wi, T “ Wi,
o, W TN,



=> W) =

- _t.)o(

o /L 'J
» By
J

= O
Wy, _&)(t& >
"t“ ‘2;-‘-(? i

s
%w@g‘,@ft—
) = «

wam

\



\/?Y\@lA 2 )__B(M»JC Cras 5“3@?

You wish to drive from point A to point B along a highway
minimizing the time that you are stopped for gas. You are told
beforehand the capacity number L of miles you can drive when the
tank is full, the locations x,- - - , x,, of the gas stations along the
highway, where z; indicates the distance from the i-th gas station
from A. Design a greedy algorithm to compute the minimum
number of times you need to fill the gas tank.
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Given a tree T'= (V, E), find the maximum independent set of the

tree. For example, maximum independent set of the tree of following
tree has size 7.
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